13 1 2001
> = NN = 7 =
—3 B R SR AR =
(LB, # # M 434102
:X 823 A - 1006— 2009(2001) 01— 0029— 02
(1,2
(3]
, , , [1]
s SO,,NOx, TSP
1 1994
n 1994 10
Sux),fax), ~fn(x), I
fj= r’glkalgfi(x)=fi(x)(i: 1,2, --n)
iy 1 mg/ Nm’®
Xi(i=1,2 --n)
’ X* 7 X: X* , SOZ NOX TSP
’ 1 00121 0.031 6 0 4487
F(X)= 2 0 0033 0.030 8 0. 449 3
r . 3 00511 0.048 0 05777
x ), x) - ful(x , F = s
[{1( )Jiz(T) fulx)] [y 4 0 0286 0.030 6 0.3599
fasful o R 5 0. 034 4 0.052 5 0.3789
X, f(X) f . 6 0 0275 0.024 7 0. 160 2
, , 7 0 0265 0.045 0 05742
n N F(x) - 8 0 1280 0.051 0 0.5330
T min ( Minkowski) 9 02800 0.056 0 0 1650
10 0 0450 0.037 0 0. 1659
m 1
. P R
WF(x)- F ||{(i;)v[ft(x) fil ]}p 5 g/ Nn?
2 LD (X) eeeeereee et et et e e (1)
‘P E(1, o) L(cy T(Cy TCy) IV(Cy
(Y fi S0, 005 0.15 025 050
i S fi( %) I NOx 005 0.10 015 030
A TSP 015 0.30 050 1. 00
P . P=1
;P=2 ; P= :2000— 09— 04; £ 2000- 12— 06
oo P , (1968- ),

— 29



13 1 —_— 2001 2
( GB 8978- 88) 4
SO, NOx TSP 3 ( 2),
, 1 0. 2140 Cll
,  GB 8978- 83 G/ C(S0), 2 0.2205 cll
Cj(NOx),Cj(TSP)] i 3 0. 2366 clII
4 0 1521 Cll
Di[ di(S02), di(NOx), di(TSP) ] s 0147 8 -
’ 6 0.0354 Ccl
7 0. 257 8 clIl
3 S0,, NOx, 8 01605 cll
TSP A N e 1 9 0. 1925 cll
’ RT3 10 0. 0211 I
=1, P= 2, (1)
Lo(x) = { (%)= f5 2}2 (2 ’
2(x) i=1(f()f) (2) 1234 ,
2) , 4 1994
F(x) F : , 2 2 3
2 1 3 2 2 1 , 10
(2) 6
2 [
Li = {(di(S0y) - €;(S02) P+ [di(NOy)
1
- G(NOy) P+ Wdi(TSP) - G(TSP )z 5
(i=1,2,3,4j= 1,2, ...... 10) ... (3) 31
[L72]
(3) g
1234 , 3 (3) ,
4 : .
L=min{Lil, Li2, Li3, Li4), 4 3.2 ,
[3]
3 (3) ,
3.3
(i) Lil Li2 Li3 Li4
1 0.301 7 0.2140 0.2706 0.783 6
2 0.3035 0.2205 0.2786 0.7839 3.4
3 0.4277 0.2993 0.236 6 0.6658
4 0.2119 0.1521 0.2879 0.8394 [ ]
5 02294 0.1478 0.2658 0.814 7
6 0.0354 0.2006 0.4251 1.0022 L
[J]. , 1999, (5): 45~ 48.
7 0.4249 0.3057 0.2578 0.6859 (2] . (1.
8 03909 0.2362 0.1605 0.646 9 , 1994, 12(6) : 46~ 49.
9 02306 0.1925 0.3492 0.8973 3] ) [M].
, 1991. 176~ 180.
10 0.021'1 0.170 8 0.4079 0.9859




